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Chemistry: Unit 1 Review
Directions: Complete the following questions using your notes and previous homework to help. Show all
your work and include units, when necessary. Write in complete sentences, when necessary.

1. List three safety rules you feel are the most important rules for laboratory work.
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2. List three items of information you can find on an MSDS sheet.
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3. Explain the difference between acute and chronic chemical exposure. Provide an example of
each.
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4. Describe each step in the scientific method.
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5. Compare and contrast qualitative and quantitative observations.
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6. Provide three major differences between a scientific law and a scientific theory.
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T Write the four important parts of a graph. a_fj € =) sl
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8. Express in standard form. Express in scientific notation.
{
1. 5.2x 108 3, 00 4. 780000 n.? X110

2. 965x10% 0.00090,5 5.0.00000422 | o .~

.
3.85x102 (5 O%5 6. 10000000 \ w107



9. Examine tht\e/following dqﬁa and make a graph on a separate sheet of paper. (L.Q.S\ pc:\.cse \)

Plant Height | Time
(cm) (Weeks)
0
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How tall was the plant at 2.5 weeks? 7.5 weeks?

| cm 5.3%e¢em

How tall will the plant be at 10 weeks?
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How many weeks had passed when was the plant 4.0cm tall?

5.4 weeks  (iderpolation)

10. Use the exponent function on your calculator to compute the following.
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1. (4.1x102) (8.0x10%) 7.9 x10 5. (3.2x10%/(6.8x10% .7
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2. (36x109(13) U M x10”° 6. (4.6 x 10%)/(9.8) 4.7 x10
3. (40x109) (145) O.53 7. (298)/(2.7x102) | |\ 410
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4. (7.9x10%) (3.1x10%) 2.4 x10 8. (5.6x109)/(33x108) |."1x 10O
11. Complete the following calculations. Include units on your answers.
1. (35km) 3.9 |0 km 4. (2.7 ka) 9.3 =
(3.5 h) “‘;‘:’“ (0.45m x 0.55 m x 4.2m) mn
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12. Complete the following conversions.
1. 254.3mmtom 4. 0.952kgtog . —
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Lmb: \‘ 3. How many watzits are needed for 96widgets to be used? (1system = 12 widgets = 48 watzits)
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13. Explain the Law of Conservation of Mass. Svari ouies )
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